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Translate the following into English :
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Translate the following into Hindi :
The meetings of the annual conferences between the Indian and the Russian
leaders no longer enthuse. The direction ot the bilateral relations has become
predictable and lacks in the excitement of the unknown.
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Rewrite the following passage correctly :
The Valley of Flowers is notorious for its attractive sceneries. It is located in an
altitude of 3600 meters. It remains cut -away from the nearby villages in winters.
This breath-taking meadow was situated high above in the Garhwal hills. It is full
with rare flowering species and herbs.
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Read the following passage carefully and answer the questions given in the last of
this passage :

Both India and Russia changed phenomenally during the quarter century
since the Cold-War ended and the former Soviet Union disappeared — although,
paradoxically, the outlook of the two countries bear greater resemblance than
before, as they took to globalization. Russia’s perennial quest for habitation in a
‘Common European Home’ resumed, while India’s desire for proximity with the
West no longer risks rebuff.
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But appearances can be deceptive in the world of diplomacy. The heart of the
matter is that Vladimir Putin’s visit, which begins on December 11, is taking place
at a period of historical transition in Indian politics, which also happens to
coincide with the defining moment in regional and world politics. Suffice it to say,
the India — Russia relationship is entering a transformative period by sheer force of
circumstances and as characteristic of such periods, it is also time for new
thinking.

Questions :

(1) What do you understand by the phrase ‘Cold-War’ ?

(2) The word ‘deceptive’ occurs in the passage. Give its synonym.

(3) Explain the meaning of ‘defining moment’.

(4) What is common between India and Russia according to the author ?

(5) What is the antonym of the word ‘resemblance’ 7 In which context is it used

in the passage 7
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Write an Essay on any ome of the following topics in Hindi OR English
Language —
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(1) SEH STHRIEEY S =hl HAEEhIdsh Hatd

Cultural importance of Devbhoomi Uttarakhand

(ii) STRTETE =h [9=hTH H S -9¥95T =h1 Ha<d

The importance of forest resources for the development of Uttarakhand
(iii) STREETS T ATHTEA

Folklore of Uttarakhand
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The challenges for Uttarakhand in view of the women empowerment
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Language —
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Indian Economy towards De\elopment
(ii) W T AN HEFET - FHIIAT AT FHTEE

I;ldjan Space Plooramme : Challenges and Possibilities
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Effect of Climate Change on the Globe
(iv) WA TR ST FeE Teme

Indian Democracy : The Culrent Scenario
(v) HIeT I EY U IR e

United Nations Organization and International Peace
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